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ENGLISH VERSION

Instruction :All questions are compulsory.

1 MCQ.: 20
(1) If A=B=¢ then =
A 4~B B) 4uB
C©) A4n~B D 4-B
@ And=____
A u B) {¢}
©) 4 (D) None of these
(3) Probability of any sure event is
A -1to+1 @ 0
© 1 (D) None of these
@) P(A):%, P(B'):A,P(AMB):% then P(AUB) =
@& Y ® )y
© %, o %,
() In mathematical expectation E(x) =
A Tx P(x) B xp
©) Vix) (D) None of these
6) If E(x) =2 then E@2x - 1) =
A 1 B) 3
€ 5 D 0
(7) In mathematical expectation E(x — 1) =E(x — x) =

@ 1 B) -1
©) 2 ® o
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(8 If x and y are independent variables then v(x — y) =

A v(x)-v(y) B) v(x) - v(y)
©) v(x) + v(y) (D) None of these

(9) In Poisson distribution mean is equal to
(A) Variance (B) Median
(C) S.D. (D) None of these

(10) In binomial distribution if mean = 20 and S.D. = 4 then

n =
A) 10 B) 80
©) 90 D) 100

(11) The mean of binomial distribution is always greater than its

(A) Median B) Mode
(C) Variance (D) None of these

(12) The mean of Poisson distribution is 2 then its S.D. =

@ 0 ® 2

<€ 2 O 1

(13) Seasonal variation repeats during a period of year
@A 1 B) 2
© 4 (D) None of these

(14) Forecasting is process of making an estimate of
(A) Present (B) Past
(C) Future (D) None of these

(15) The component useful for short term forecasting is
(A) Cyclical (B) Trend
(C) Seasonal (D) Irregular

(16) A set of data depending on time is called
(A) Index number (B) Time series
(C) Co-relation (D) None of these
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a7 y =
(A) ab®
(©) atbx

1s an exponential curve.

(D) None of these

(18) Cyclical fluctuations can be obtained by the method of

(A) moment

(C) moving average

(19) The period of cyclical variation is always

A)
©

<1
>1

(20) There are

degree parabola.

A)
©

methods of describing a set.
(b) Write a short note on Bayes's theorem.
OR

1
3

(B) least square
(D) None of these

year.

normal equations are used to fit a second

Explaining the elementary concept of the set. Write the 5

@ IfA={1,23,4,B=1{2,4,6,8 and C=1{3,4,5,6} then 5

prove that An(BNC)=(4nB)nC.

() A, B and C are given an example. The probability that 5

they will solve the example correctly are 1/2, 1/3 and
1/4. Find the probability that at least one of them will

solve the example correctly.

3 What 1s mathematical expectation ? State the properties 10

of it and also state the uses of it in statistics.
OR
The probability distribution of a r.v. x is as follows :

X=x
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4

P(x)

0.10

k

0.30

k

0.10

Find @)
(i)
(iii)
iv)

k

Mean, Variance and S.D.
E@2x + 1) and E(x + 1)2

V@Bx — 1)
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4 (a) Write short note on Binomial distribution. 5

(b) Write short note on Poisson distribution. 5
OR
(@) For a Poisson variate P(1) = P(2) then find the value 5
of P(0).
(b) Find the probability of getting only one head after 5

tossing a coin six time.

5  What is curve fitting ? Find the normal equations by least 10
square method.
OR

Fit a second degree parabolic curve from the following data : 10

x|[1|2]|3|4(5|6 (7|8 |9
y|2(6]7]|8 (1011|1110 (9

6  Write short note on : 10
@ Long time fluctuations.
@) Method of Moving Average.

OR
Find seasonal variation : 10
Year Profit
I IT I11
2010 120 140 145
2011 145 160 165
2012 160 168 172
2013 170 174 176
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